Exponential Form of Complex Numbers

1. Fill in the blanks in the following table:
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2. We can use the exponential form of the complex number to find square roots. Let us illustrate this by doing one where we know the answer. Let us try to find 
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First write 
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 in exponential form:

Now set 
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 equal to this and raise both sides to the power of  
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:

Rewrite your answer in 
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 form:

This should have given you 
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. But we know that 
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 can also be equal to 
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. Can you work out how we can use this method to get this alternative value?
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